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POLITICAL SCIENCE
( Major )
Paper : 4.2
( Public Administration—II )-

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : =~ 1x10=10
e frd Aot Ses fors
(a) By which Civil Service Act the ‘spoils
system’ was discarded in favour of the
‘merit principle’ in the United States?

HERF A @A PRE O/ WX
‘IS STolCF 09 -7 TN IR A
fafeet 2
(i) 1883/>vveo
(i) 1857/>veA
(i) 1887/>vrba
( Choose the correct one )

(o= TSI A1 Sferear )

8A/987 { Turn Over )



(2)

(b) Under which Article of the Indian
Constitution the President of India
causes the Annual Financial Statement
to be laid before the Houses of
Parliament?

SRST WRAFT FH SR Al S
Wt e REw RS vome Wl
IR I I ? ‘ '

(c). Who is the author of the book, The
Ecology of Public Administration (1961)?
The Ecology of Public Administration
(1961) NF ARETA (I T ?

(i) Max Weber/G¥ (@
fi) Fred W. Riggs/GFS G0, 5%
(i) L. D. White/«9. f. z=i2
' ( Choose the correct one )

(o= Seaco 1M Sferean )

(d) The institution of ombudsman was first
introduced in Sweden in the year

PRSI AfSBRol A3 wfde CafRE

@ 59 ?
(i) 1808/svov
(i) 1809/3v0b
(i) 1810/3¥>d0

- ( Choose the correct one )

(o= Teach A Tfrear )
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(e)

(g)

h

8A /987

(3)

Mention one mean of judicial control
over public administration.

ERITR @S el fFEEeR @bl
Witz SE 90 |

Write one difference between
development administration and
non-development administration.

Rem orm o S-RIMT PP TS A
«G1 Ny far | -

Accounts have been separated from
audit at the union level in India since

THoe @0y e fRrrewae RBiR ARrER
oq1 [es 91 (R
(i) 1970

590 B9

(i) 1971
545 5O

(iii) 1976
354% B3

( Choose the correct one )

( =% Texeh! A Sferea )

Who appoints the Comptroller and
Auditor-General of India?

SN TIEE WIF R RAwee @A S
fuza 2
( Turn Over )



(4)

(i) Who was the first Lokayukta of Assam?

A AU RS (P SR 2

() Mention one advisory function of UPSC.

@O GIRCWl SRFeR <61 o/ IR
TrEy 91

2. Answer the following questions : 2x5=10
weTe fAg] epaedee Ted o

(a) Mention the four main types of
personnel recruitment tests.

i e <R SR 941 o TeEy 90

(b} Distinguish between single Eudget and
plural budget.

GFF IACRE WF IF ICEY &A1Y
YT |, .

(c) Write two means of legislative control
over public administration.

@R eis RaRAl Fagm g o
frar1

_(d) Write any two features of performance
budgeting.

IR IS R @I o1
fo 1
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(5)

fe) Mention four common processes of
people’s  participation in  general

administration.
AYRT IS HAHRTE @SME YR
eifer g1 BIfROT Sy 340 |
3. Write short notes on/Answer any four of the
following : - 5x4=20
e (e WA 5y G for /e o
(a) Training for Indian Administrative
Service '

SEH PTIAE R AF 2
(b) Principles of budget .
fc) Main features of Lokpal Bill, 2011

TN R, 0553 17 GAFErTR

(d) Mention the three provisions by which
the Constitution safeguards the interest
and rights of the taxpayers.

HRA FTOreed FY WE SRIE W
781 Provision 61 Bty 341 1

(e} Procedure of removal of the UPSC
President and members
TN CIFER] SR NTF S AT
PR afS

(f) Changing perspective of accountability
TRRReN RS Fa
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(6)

4. Answer the following questions : 10x4=40
were frg o] Ted ford

(a) Discuss the importance of seniority
principle of promotion as compared to
the merit principle of promotion. 10

MAERS IER BRSPS (Tl NS
GFG A A |

Or / [T

What is meant by civil service? Discuss
the importance of civil service in modern
State. 3+7=10

wERE o W @ oqEe SRR @
WWWWWI

(p) Discuss the procedure for the
enactment of budget in the Parliament

of India. 10
TRSE AT ACHO AT 91 TG0l SCEA51
0|

Or / 93T

What is performance budgeting? What
are the merits and difficulties of
performance budgeting? 3+7=10

I A [ IR
T B WF RAEAR ¥, o1
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(c)

(d)

(7)

What do you mean by development
administration? Discuss the scope of

development administration. 3+7=10

R 2pem W & e 2 Rt PP <R
A ¥4 |

Or / 9«1

Define bureaucracy. Discuss the role of
bureaucracy in developing countries.

3+7=10

e ke SmeNe @S
SCATTOF S ST 341 |

What is the need of executive control
over public administration in a
parliamentary form of government?
Discuss critically the various means of
executive control over public

administration. 3+7=10

T a4 TP IS (@ 8o[{®
Frfofere fvg® & g@m®=? GRPTTR
e Iree  fgER Rfem Tememz
SEATBARETE SO 47 |

Or / 9l

What is RTI? Discuss the importance of
RTI in redressal of public grievances.

RTI 7 o SSENER MR cFae
RTIR %% S0 391 |
%* % %
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